
www.evotech-performance.com

Installation Instructions
Triumph Tiger 900 Garmin Sat Nav Mount



Installation Instructions

Kit Contents   PRN014566-014925

1 x Main Plate A

1 x Pivot Plate B

1 x Sub Mounting Bracket C

2 x M5 x 8mm Black Button Head Bolts   D

2 x P-clips (No.1)  E

2 x P-clips (No.2) F

2 x P-clips (No.3) G

2 x P-clips (No.4) H

2 x Lobe ScrewI

2 x M5 Black  WasherJ

2 x Locking Washer K

2 x M4 x 5mm Black Button Head Bolts L

4 x M4 x 10mm Black Button Head BoltsM

Sub Kit 
2 x M5 x 36mm Caphead BoltN



Installation Instructions 1



Installation Instructions 2



Installation Instructions 3



Installation Instructions 4



Installation Instructions 5



Installation Instructions 6



Installation Instructions 7



Installation Instructions 8



Installation Instructions 9



Installation Instructions 10



Installation Instructions 11



Installation Instructions 12



Installation Instructions 13



Installation Instructions 14



Installation Instructions 15



B

C

Installation Instructions 16



D

Installation Instructions 17



Installation Instructions 18



M

Installation Instructions 19



K

Installation Instructions 20



K

Repeat
Both Sides

Installation Instructions 21



A

Installation Instructions 22



I
JJI

Installation Instructions 23



24Installation Instructions

G



25Installation Instructions L



Installation Instructions 26



Installation Instructions 27



Installation Instructions 28



N

Installation Instructions 29



Installation Instructions 30



Installation Instructions 31



Installation Instructions 32



Installation Instructions 33



Installation Instructions

Reverse Stages
4  - 1



www.evotech-performance.com


